[image: image1.png]Questions 5 and 6 refer to the following paragraph and diagram.

After the American Revolution, the United States gained control of the land that
now forms the states of Ohio, Indiana, Michigan, Illinois, and Wisconsin. This land was
called the Northwest Territory. Organizing the Northwest Territory was one of the main
achievements of the U.S. government under the  Articles of Confederation. The diagram
shows how the land was divided into townships. The U.S. government surveyed the land
to set township boundaries. Each township was further divided into 36 square sections
that were sold to settlers whole or-in smaller plots.
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5. What is the main reason that the diagram 6.- By law, one section of each township in the
focuses on section 13 of the township . Northwest Territory was to be reserved to
square? . + support education. What does this show

) about American values in the late 1700s?
(1) to show how many half sections could

be carved out of a whole o (1) Land was not valued since it was not all
(2) to show the difference in size between used for farming.
different sections (2) Education was valued only in the
(3) to present an example of how the people Northwest Territory since land was set
in each township voted to divide the land aside only there.
(4) to present an example of how all (3) Education was not valued sirice only the
sections in a township could be divided Northwest Territory had land for schools.
(5) to show that certain sections would be (4) Education was valued since the
the least desirable amounts of land government built all of the nation’s
schools.

(5) Education was valued since the
government set aside land for schools.





